
VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION 
  Living Space Information  

Vendor Collection: VERA DREAM STORAGE 

 

 
ITEM DESCRIPTION QUANTITY 

1 VERA DREAM HEADBOARD 1 PIECE 

2 VERA DREAM RAILS/SLATS 1 KIT 

3 VERA DREAM FOOTBOARD 1 PIECE 

4 VERA DREAM DRAWERS 1 KIT 

 

 

 
STEP 1: Attach side rails to headboard using Wrench(C), 4 Screws (A) and 

Washers (B). 
 

 

2 1 

 
1  

A -B 
 

 

C  
STEP 1 

 
2 

 
2 

 

 
STEP 2: Attach the "L" shape Slat to side rails using 2 Screws (A) and Washer 

(B). 

3 2  

STEP 2 
A  1  

 
 
 

 
C 

2 

 
2 

 
2 

1 HEADBOARD  X1 

 

2 RAILS/SLATS X2 
X1 

3 
FOOTBOARD WITH 
DRAWERS 

 
X1 

 
Hardware bag included in side rails and 

slat box with red ribbon to located. 

A 
5/16-18X1" SCREW 

BUTTON HEAD CAP X8 

 

B WASHER 5/16 PLAIN  
X8 

C 
3/16 SHORT ARM 

HEX KEY 
 

X2 

D 
5/16-18X 1 1/2" SCREW 

BUTTON HEAD CAP  X2 

 
 
 

 
VERA DREAM STORAGE 
BED 

 
 
 
 
 

 
0:45 

 
 

 

1 

LSMX1 

V-005852 
Vendor Name: 

Vendor Code: 

Vendor Information 



 
 

STEP3  TURN RIGHT 

 

 

 
 

D 
B 

 C 

 

 

Vendor Information Living Space Information 

Panel U-shaped 

STEP4 

STEP5 

STEP6 

VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION 
 

  
 

 
 
 

 

 
 
 

 

 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 

 

Vendor Name: 

Vendor Code: 

LSMX1 

V-005852 

Vendor Collection: VERA DREAM STORAGE 



 

 
 

2  3 

Unroll Slats  
2 

Slats 

1  

 
 

Vendor Information Living Space Information 

VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION 
 

  
 

Vendor Name: 

Vendor Code: 

LSMX1 

V-005852 

Vendor Collection: VERA DREAM STORAGE 



ASSEMBLY INSTRUCTIONS 
LS SKU: CAL KING LS PRODUCT NAME: STORAGE BED VERA DREAM 

 

ITEM DESCRIPTION QTY DRAW 

A FOOTBOARD 1 

B DRAWER 2 

TORNILLO PARA LLAVE ALLEN CABEZA 
PLANA 5/16" X 1 5/8" 

D 3/16 SHORT ARM HEX KEY 1 

 

 
 

 

 
 

 

 

 

C 
 

 

 
 

 

 
 

 

D 
 

 

 

 

 

 

 

 

 

2
2
.0

0
 

2
5
.4

0
 

C 8 



Vendor Name:                         LSMX1 Vendor Collection: VERA DREAM

Vendor Code:                          V-005852

ITEM

1

5/16-18X1-1/4" SCREW

BUTTON HEAD CAP

3/16  SHORT ARM

HEX KEY

0

DESCRIPTION

E

WASHER 5/16 PLAIN

CORNER BRACKET

C

B

D

                                  Vendor Information Living Space Information

A SLOT BRACKET

1 WINGS

QUANTITY

2VERA DREAM WINGS

X2

Hardware bag included with red ribbon to 
located.

VERA DREAM BED WITH 
WINGS

0:30

VERA DREAM WINGS ASSEMBLY INSTRUCTION 

X8

X2

E

C D
B

STEP 4: Attach brackets (A & B) in the holes on the back and under the wings, using 
wrench(E), screw (C), and flat washers (D), following the direction clockise. 

1

D

A

C
E

1

E

C D A

righty-tighty

E

B

C D

righty-tighty

X2

X8

X2

1

lefty-loosey righty-tighty

STEP 1: Loosen the screw (C), using a wrench (E) and turn it counterclockwise. 
STEP 2: Turn a plate clockwise and one for the counterclockwise.
STEP 3: To tighten the screw (C) turn the wrench (E), following the direction of the 
hands of a clock. 

STEP 3

Clockwise
STEP 2

Counterclockwise. 

STEP 2

1

STEP 1

righty-tighty

righty-tighty

1



Vendor Name:                         LSMX1 Vendor Collection: VERA DREAM

Vendor Code:                          V-005852

                                  Vendor Information Living Space Information

D

C

STEP 5: Raise bed to put inside the side rail of wing bracket.

1 (Wing)

STEP 6: Attach bracket (A) to headboard, using wrench(E), 4 screws (C), and flat washers (D), following the direction of the 
hands of a clock. 

B

Side rail

1 (Wing)

B

A

Floor

Floor

1 (Wing)

B

Side rail

Headboard

1 (Wing)

Side rail

B
STEP 5

A

D C

E

DCA

DCA

DCA

DCA

VERA DREAM WINGS ASSEMBLY INSTRUCTION 


